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ol FIRST REVISION TEST - 2025

XII - st MATHEMATICS (TTTT ]
Time : 3.00 Hrs Marks : 90
Jart -1

Note : i, Answer all the questions :- 20 % 1 =20
F_‘! 3
1. If 4= 5 o and 147" = 4 then the value of 4 is
a) 17 b) 14 c) 19 d) 21
3
d. If 4= 4 2] L then91 - A=
- -1
a) At b) T3 c) 3A™! d) 2A"!
3. The area of the triangle formed by the complex numbers z, iz, and z+ iz in the Argand’s diagram is
1 . ' 3 . '
a) 5 lzf b)|z [ ©) 3 lzf d)2|zf
4. If z is a complex number such that |z :.2i| " |z + 2i|, then the locus of z is
a) real axis b) imaginary axis c) circle d)ellipse
5. If 3 and -2 are two roots of 6x* — 5x* — 38x* — 5x + 6 = 0 then the other two roots are
) -1 1 -1 -1 . 1 -1
i B ——
o o )32 3% )37
6. sin! (2cos®* x — 1) + cos™' (1 — 2sin®x) = ?
T T | /4 ; T

|
7. If| x | < 1, then the value of sin (tan™' x) is
X , ] x

1
D e Y2 N Ve

8.  If(11,2)is one end of the diameter of the circle x? + y* — 8x — 4y + ¢ = 0 then the other end of the

diameter is
a)(3,5) b) (-3, 2) c)(11,-8) d) (5,3)

1
9.  The perpendicular distance from the origin to the plane 2x+3y+Az =1, 1 >0 is 3 then the

value of ] is

a) 243 b) 342 ¢) 0 d

10. If p(x, y) is any point on the conic 16x? + 25y* = 400 and F F, are foci then the value of

PF, +Plz ¢
a) 8 b)6 - ¢) 10 . d) 12
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. X=Ssinyx
lim————=
U,

| 1
a)0 b) | ¢) 2 d) 5

The volume of the parallelepiped whose coterminous edges are ;1,/; and ¢ is90 cubic units then
the value of [(l +bb+c,c+ 0] is 0
a) 90 cubic units  b) 8100 cubic units  ¢) 180 cubic units d) 270 cubic units

The number which satisfy the Rolle’s theorem for the function f(x) = x’ =3x?, x €[0,3]

V3

a)l . ‘ b) \/5 ") ‘5— d)2
If (X, y. z) =Xy + yz + zx then the value of f —f, '
a)z—Xx b)y-z c)x—z o dy-x
1
j(5x+4)d\-=
0

s 9 13 Nt
2) 3 )3 27 .. )3
Je—3: dexz

7 R 02
)37 ) 27 9793 ) 57

The solution of the differential equation 2x te ¥ =3 represents

a) Straight lines b) Circles : c) Parabola d) Ellipse

\ : dy
The general solution of the differential equation log (‘&; =X+Yis
a)er+e =c b)e*+evY=c- c)e*+e'=¢ d)e*+ey=c¢

Which of the following statement has truth value T.

a) sin x is an even function .

b) Every square matrix is a non singular matrix

c) Product of a complex number and its conjugate is purely i;naginary
d) \/3 is an irrational number

, 2x, 0<x<a _ .
i J(x)= 8, olbsrvalugal s is a probability density funglion of a random variable x, then
the value of a is , .
a) | b) 2 . c)3 d)
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PART - 1

Note : 1. Answer seven questions. 2. Question number 30 is compulsory :-7X2=14

| -1 I3
21.  Find the value of C€OS _[ COS % )

cos@ -—sinf

22.  Prove that l: } is an orthogonal matrix,

sind cosd
23.  Find the square root of -5 —12i.
24.  Find the foci of the hyperbola 9x? — 16y* = 144.
25.  Find the acute angle between the two straight lines, 2x = 3y=zand 6x = -y =4z
26. Ifg(x,y)=xe"+3x*ythenfindg_. -
o :

I. x* cosxdx
-~/ |
28. Ify=e™is a solution of the differential equation y' + 2y =0 then find the value of m.

29.  An unbiased coin is tossed 100 times of the random variable X represents the number of heads

27. Evaluate

appears then find the mean of x using Binomial distributions.
*30.  Verify that whether the binary eperatien is defined as-g*b = a’,Ya,be N has assoc:attve

property?
“Part - IIT
Note : 1. Answer any seven questions. .
2. Question number 40 is compulsory :- - ; 7X3=21
2 -2 4 3
o -3 4 2 -l ot
31. Find the rank of the matrix by reducing it to a row echelon form.
S 6 2 -1 7]

32. If | z|=3 then show that 7S|z+6—8i|£.13.

33. Solve x’ — 5x* —4x + 20 =0.

34. Find the centre and radius of the circle 3x2 « (a + l)y2 +6x—-9y+a+4=0.

35. Find the equation of the plane which passes through (3, 4, —1) and parallel to the plane
2x — 3y + 5+ 7 =0 and find the distance between these planes. ;

d X+ IO
36. Solve & e g xe

37. Prove tl?;i f(x) = x — sin x is an increasing function in the real number line R. and the absolute
maximum and absolute minimum,

38.  Show that p = ¢ and ¢ — p are not equivalent.

39.  If'the mean and variance of a binomial random variable X and 2 and 1.5 respectively then find the

value of p(X =0). - , 4
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. 1
Evaluate Il Sx=3|dx,

0

PART - 1V
Note : Answer all the questions :- 7X5=35

a) Solve 6x*-— 35)(3 +62x*-35x+6=0. (OR)

b) Find the Maclaurin’s expansion for log (1 +x)in —] < x <1 up to four non zero terms.

a) Investigate for what values of A and p  the system of linear equations
A+2y+z—7 r+y+/lz—,u, x+3y 5z=5 has (1) no solution (ii) a umque solution
(iii) an infinite number of solutions: (OR) : _

b) Find all cube roots of \/§+,. | - ;

a) Find the vertices and foci of the hyperbola 4x? — 24x — 25y? + 250y — 489 = 0. (OR)
b) Find the non parametric vecior and Cartesian equations of a plane which passes through

(1, -2, 4) and perpendicular to the plane X + ?_y 3z =11 and parallel to the straight line
x+7 y+3 z . |

3 -1 1 | N ,
a) The equation of electromotive force for an electric circuit containin g resisténce and self inductance
0 « "0b - !

is E=Ri+L ;t where Eisthe electromotive force is given o the cnrcmt R the resistance and L,

4

the coefficient of induction. Find_ the current i at time t w}ien E = 0..(OR)
b) Prove by vector method that sin(a — §) = sin a cos pB—cosasinf .

a) Find the absolute extrema of the function f(x) = 3x* — 4x° on the given interval [-I;2].
(OR) |

- N _ ) T Sz
b) Find the area of the region bounded by y = COs X,y =sinx, the lines X = Z and X=—

4.

- (X =y ’ ou . du
a) If ¥ =8¢eC Xty then prove that xa +yé;—200tu (OR)

b) Prove that P — (—g v r) = —P v (—q Vv r) by using truth table.

]

ke, x>0 .y : .
a)lf J(x)= 0 L<0 52 probability denSlty,func.non of a random variable X, then find.
) ] \

i) the value of K. ii) the distribution function of X. (OR)
' in | sin™(2 +sec”™ L |
b) Evaluate S 5 4))
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